[image: image1.emf]
	Benha university

Faculty of science

Chemistry department
	1st year students

Applied inorganic chemistry (1)

	Date : 16.12.2017
Time: 1   hour
Code: Ch183 


Section A: Choose the correct answer [20 Questions] [40 Marks] [Each point has 2 Marks]
[1] According to acidity (A) Acetic acid >Sulfuric acid (B) Acetic acid < Sulfuric acid    (C) Acetic acid = sulfuric acid (D) none of these. 

[2] According to acidity (A) HF > HI (B) HF=HI (C) HF < HI (D) none of these.
[3] Solution of ammonium chloride is (A) neutral (B) acidic (C) basic (D) none of these. 

[4] Nonmetals are (A) electronegative elements (B) electropositive elements                    (C) inert (D) none of these. 

[5] PbO + 2NaOH + H2O→ Nax [Pb (OH) 4]   (A) x=3 (B) x=4 (C) x=5 (D) none of these.
[6] During the extractive metallurgy of copper, potassium amyl xanthate is (A) slag         (B) matte (C) collector (D) none of these. 

[7] During the extractive metallurgy of copper, smelting process produce (A) [matte +FeO + sulfur dioxide] (B) [matte + Fe2O3 + sulfur trioxide] (C) [matte + FeO + sulfur trioxide] (D) none of these. 
[8] During the extractive metallurgy of copper, collectors attach their ------ end to the mineral surface. (A) non-polar (B) polar (C) hydrocarbon (D) none of these. 
[9] Ammonia can be used to produce (A) Organic fertilizers (B) Inorganic fertilizers       (C) [A+B] (D) none of these. 
[10] Heating ammonium carbamate gives (A) Organic fertilizers (B) Inorganic fertilizers       (C) [A+B] (D) none of these. 

[11] Schweizer's reagent is (A) [Cu (NH3)2(H2O) 4] (OH) 2 (B) [Cu (NH3)2(H2O) 2] (OH) 2 (C) [Cu (NH3)4(H2O) 2] (OH) 2 (D) none of these. 
[12] Aldehyde detection positive test with Tollens reagent is indicated by the precipitation of (A) Silver chloride (B) Silver nitrate (C) Silver (D) none of these.
[13] Nessler's reagent can be used to detect ammonia through the formation of brown precipitate called (A) Schiff base (B) Millon's Base (C) ammonium hydroxide           (D) none of these.  
[14] The ammonia gas is dried by passing it on (A) calcium oxide (B) sulfuric acid              (C) nitric acid (D) none of these.

[15] Electrolysis of sodium chloride solution produces                                                      (A) Chloride at anode and hydrogen along with sodium hydroxide at the cathode.
     (B) Hydrogen at anode and chlorine along with sodium hydroxide at the cathode.
     (C) Chlorine at anode and hydrogen along with sodium hydroxide at the cathode.   
     (D) none of these. 
[16] If chlorine is not separated from sodium hydroxide, side reactions would occur due to the formation of (A) NaOCl (B) HCl (C) NaCl (D) All of these. 

[17] In cement, clinker phases are 

(A) C2S, C3S, C4S, and C4AF (B) C2S, C3S, C3A, and C4AF 

(C) C2S, C3S, C3F, and C4AF (D) none of these.

[18] Aluminum oxide is (A) acidic oxide (B) Basic oxide (C) amphoteric oxide               (D) none of these. 

[19] Silicon dioxide is (A) acidic oxide (B) Basic oxide (C) amphoteric oxide                  (D) none of these. 

[20] 2NH3+ Cl2 → ammonium chloride + ------- (A) Chloramine (B) chloroform              (C) ammonia (D) none of these  
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